

RESUELVE LOS SIGUIENTES SISTEMAS

EJERCICIO	SOLUCIÓN
$\begin{cases} 2x + y - z = 0 \\ x - y + 2z = 5 \\ x + y + z = 3 \end{cases}$	
$\begin{cases} x + 2y + z = 4 \\ 2x + 5y + z = -3 \\ 4x + 9y + 3z = 2 \end{cases}$	
$\begin{cases} 2x - y + z = 3 \\ x + 2y - z = 4 \\ x - 8y + 5z = -6 \end{cases}$	
$\begin{cases} -x + 3y - z = 4 \\ x + 4y = 5 \\ 2x - 6y + 2z = 3 \end{cases}$	

RESUELVE LOS SIGUIENTES SISTEMAS

$$\begin{cases} 4x + y - 2z = -3 \\ 3x - y + 4z = -2 \\ -x + y + z = 5 \end{cases}$$

$$\begin{cases} -x + 2y + z = -2 \\ 2x + 6y + 4z = 2 \\ 2x - y - 2z = -4 \end{cases}$$

$$\begin{cases} x + 2y - 3z = 3 \\ 3x + y + 5z = 4 \\ -4x - y + z + 5 = 0 \end{cases}$$

$$\begin{cases} x - 3y - z = 0 \\ 2x - 5y = 3 \\ x + 3y - 4z = 3 \end{cases}$$